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Cuadro 17 (continuación 6)/Table 17 (continued 6)
Paraguay: tablas abreviadas de mortalidada

Paraguay: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.036 0.035  100 000  3 488  97 042 0.963 b 7 022 410 70.2
1 4 0.002 0.007  96 512   708  384 338 0.994 c 6 925 368 71.8
5 5 0.001 0.003  95 804   301  478 269 0.997 6 541 030 68.3

10 5 0.001 0.003  95 503   255  476 877 0.995 6 062 762 63.5
15 5 0.001 0.007  95 248   679  474 543 0.991 5 585 884 58.6
20 5 0.002 0.011  94 569  1 068  470 176 0.988 5 111 341 54.0
25 5 0.003 0.014  93 501  1 273  464 324 0.987 4 641 165 49.6
30 5 0.003 0.013  92 228  1 171  458 214 0.986 4 176 841 45.3
35 5 0.003 0.014  91 057  1 314  452 001 0.984 3 718 627 40.8
40 5 0.004 0.017  89 743  1 558  444 822 0.978 3 266 626 36.4
45 5 0.005 0.026  88 185  2 283  435 220 0.969 2 821 804 32.0
50 5 0.007 0.036  85 903  3 092  421 784 0.958 2 386 584 27.8
55 5 0.010 0.049  82 811  4 039  403 958 0.936 1 964 800 23.7
60 5 0.017 0.080  78 772  6 303  378 103 0.904 1 560 842 19.8
65 5 0.024 0.114  72 469  8 269  341 672 0.860 1 182 739 16.3
70 5 0.037 0.169  64 200  10 869  293 828 0.805  841 067 13.1
75 5 0.051 0.225  53 331  12 006  236 641 0.703  547 239 10.3
80 5 0.097 0.390  41 325  16 130  166 301 0.554  310 598 7.5
85 5 0.150 0.538  25 195  13 565  92 065 0.419  144 297 5.7
90 5 0.215 0.675  11 630  7 847  38 534 0.299  52 232 4.5
95 5 0.289 0.783  3 783  2 962  11 511 0.160 d  13 698 3.6

100 ω 0.376 1.000   821   821  2 187  2 187 2.7
Mujeres/Females

0 1 0.026 0.026  100 000  2 570  97 792 0.972 b 7 444 883 74.4
1 4 0.001 0.005  97 430   527  388 406 0.995 c 7 347 091 75.4
5 5 0.001 0.003  96 903   283  483 809 0.997 6 958 685 71.8

10 5 0.000 0.002  96 620   217  482 558 0.997 6 474 876 67.0
15 5 0.001 0.004  96 403   426  480 951 0.995 5 992 318 62.2
20 5 0.001 0.006  95 977   603  478 379 0.993 5 511 367 57.4
25 5 0.002 0.008  95 374   737  475 031 0.992 5 032 987 52.8
30 5 0.002 0.009  94 638   841  471 087 0.990 4 557 956 48.2
35 5 0.002 0.011  93 797  1 022  466 429 0.988 4 086 870 43.6
40 5 0.003 0.013  92 775  1 233  460 791 0.984 3 620 441 39.0
45 5 0.004 0.019  91 542  1 713  453 425 0.976 3 159 650 34.5
50 5 0.006 0.029  89 829  2 571  442 717 0.965 2 706 224 30.1
55 5 0.008 0.041  87 258  3 584  427 330 0.950 2 263 508 25.9
60 5 0.012 0.059  83 674  4 930  406 045 0.927 1 836 178 21.9
65 5 0.018 0.088  78 744  6 922  376 415 0.897 1 430 134 18.2
70 5 0.026 0.120  71 822  8 640  337 510 0.852 1 053 718 14.7
75 5 0.039 0.180  63 182  11 383  287 451 0.750  716 208 11.3
80 5 0.080 0.334  51 799  17 317  215 699 0.603  428 757 8.3
85 5 0.132 0.491  34 481  16 925  130 094 0.458  213 058 6.2
90 5 0.198 0.642  17 556  11 279  59 585 0.325  82 965 4.7
95 5 0.275 0.765  6 278  4 805  19 376 0.171 d  23 380 3.7

100 ω 0.368 1.000  1 473  1 473  4 004  4 004 2.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


